Table 0.1: Simulations results, 10,000 iterations, Az = 1. 7 January 2021.

n=100 n=>500 n=1000 n=2000
model bias MAE RMSE Coverage rate Quantile .95 | bias MAE RMSE Coverage rate Quantile .95 | bias MAE RMSE Coverage rate Quantile .95 | bias MAE RMSE Coverage rate Qu
Ax=0.2, ay=6 — by + d2=0.97
standard_kernel | -4.199 4.199  0.269 0.0 -37.151 -3.979 3.979 0.247 0.0 -79.31 -3.891 3.891 0.227 0.0 -109.612 -3.813 3.813  0.206 0.0 -]
standard_xavier | -4.199 4.199  0.269 0.0 -37.151 -3.979 3.979 0.247 0.0 -79.31 -3.891 3.891 0.227 0.0 -109.612 -3.813 3.813 0.206 0.0 -]
smooth_kernel | -4.222 4.222  0.256 0.097 -37.72 -4.003 4.003 0.235 0.315 -80.29 -3.914 3.914 0.216 0.433 -111.044 -3.834 3.834 0.198 0.556 -]
smooth_ls -4.222  4.222  0.256 0.0 -37.72 -4.003 4.003  0.235 0.0 -80.29 -3.914 3.914 0.216 0.0 -111.044 -3.834 3.834 0.198 0.0 -
smooth_xavier | -4.222 4.222  (0.256 0.0 -37.72 -4.003 4.003 0.235 0.0 -80.29 -3.914 3.914 0.216 0.0 -111.044 -3.834 3.834 0.198 0.0 -]
Ax=0.2, ay=7 — by + ds=0.94
standard_kernel | -1.855 1.855  0.196 0.0 -14.946 -1.694 1.694 0.18 0.0 -30.831 -1.628 1.628 0.162 0.0 -41.743 -1.569 1.569 0.148 0.0 -
standard _xavier | -1.855 1.855  0.196 0.001 -14.946 -1.694 1.694 0.18 0.001 -30.831 -1.628 1.628 0.162 0.0 -41.743 -1.569 1.569 0.148 0.0 -
smooth_kernel | -1.873 1.873  0.187 0.094 -15.304 -1.711 1.712  0.172 0.29 -31.563 -1.644 1.644 0.155 0.411 -42.628 -1.585 1.585 0.142 0.53 -
smooth_Is -1.873 1.873 0.187 0.002 -15.304 -1.711  1.712  0.172 0.001 -31.563 -1.644 1.644 0.155 0.001 -42.628 -1.585 1.585 0.142 0.0 -
smooth_xavier | -1.873 1.873 0.187 0.001 -15.304 -1.711 1.712  0.172 0.001 -31.563 -1.644 1.644 0.155 0.0 -42.628 -1.585 1.585 0.142 0.0 -
Ax=0.2, ay=10 — bs + d2=0.9
standard_kernel | -0.596 0.597  0.109 0.005 -3.96 -0.509 0.509 0.092 0.003 -7.668 -0.474 0.474 0.084 0.002 -10.068 -0.443 0.443  0.075 0.001 -
standard_xavier | -0.596 0.597  0.109 0.007 -3.96 -0.509 0.509 0.092 0.005 -7.668 -0.474 0474 0.084 0.006 -10.068 -0.443 0.443  0.075 0.003 -
smooth_kernel | -0.607 0.607 0.104 0.095 -4.139 -0.518 0.519 0.088 0.262 -8.098 -0.483 0.483 0.081 0.351 -10.544 -0.451 0.451 0.072 0.458
smooth_ls -0.607 0.607 0.104 0.014 -4.139 -0.518 0.519 0.088 0.009 -8.098 -0.483 0.483 0.081 0.01 -10.544 -0.451 0.451 0.072 0.006
smooth_xavier | -0.607 0.607 0.104 0.008 -4.139 -0.518 0.519 0.088 0.006 -8.098 -0.483 0.483 0.081 0.007 -10.544 -0.451 0.451 0.072 0.005
Ax=0.3, ay=4 — by + ds=0.95
Ax=0.3, ay=6 — by + d2=0.87
Ax=0.3, ay=7 — by + d2=0.84

Ax=0.3, ay=10 — by + d2=0.8

Ax=0.5, ay=3

— by + d2=0.83



standard kernel | -0.789 0.871  0.559 0.171 0.508 -0.614 0.668 0.418 0.137 0.544 -0.57 0.595 0.282 0.109 -1.873 -0.533 0.543 0.214 0.071
standard xavier | -0.789 0.871  0.559 0.226 0.508 -0.614 0.668 0.418 0.217 0.544 -0.57 0.595 0.282 0.195 -1.873 -0.533 0.543 0.214 0.153
smooth _kernel -0.851 0.913 0.509 0.331 -0.793 -0.663 0.704  0.39 0.605 -1.806 -0.611 0.629 0.264 0.737 -4.377 -0.566 0.574  0.202 0.845
smooth_ls -0.851 0.913 0.509 0.238 -0.793 -0.663 0.704 0.39 0.22 -1.806 -0.611 0.629 0.264 0.195 -4.377 -0.566 0.574  0.202 0.152
smooth_xavier -0.851 0.913 0.509 0.221 -0.793 -0.663 0.704  0.39 0.213 -1.806 -0.611 0.629 0.264 0.187 -4.377 -0.566 0.574  0.202 0.149
Ax=0.5, ay=4 — by + ds=0.75
standard_kernel | -0.258 0.313  0.266 0.342 1.573 -0.174 0.209 0.166 0.331 2.339 -0.152 0.174 0.125 0.311 2.501 -0.135 0.149 0.097 0.272
standard xavier | -0.258 0.313  0.266 0.405 1.573 -0.174 0.209 0.166 0.419 2.339 -0.152 0.174 0.125 0.422 2.501 -0.135 0.149  0.097 0.398
smooth_kernel -0.29 0.331 0.244 0.436 0.917 -0.197 0.223 0.156 0.623 1.319 -0.171 0.187 0.117 0.713 1.324 -0.15 0.16 0.091 0.801
smooth_ls -0.29 0.331 0.244 0.422 0.917 -0.197 0.223 0.156 0.421 1.319 -0.171  0.187  0.117 0.417 1.324 -0.15 0.16 0.091 0.394
smooth_xavier -0.29 0.331 0.244 0.398 0.917 -0.197 0.223 0.156 0.409 1.319 -0.171  0.187  0.117 0.407 1.324 -0.15 0.16  0.091 0.388
Ax=0.5, ay=6 — by + d2=0.67
standard kernel | -0.086 0.117 0.105 0.512 1.036 -0.053 0.07  0.063 0.528 1.375 -0.041 0.055  0.05 0.542 1.52 -0.034 0.044 0.039 0.53
standard xavier | -0.086 0.117  0.105 0.57 1.036 -0.053 0.07  0.063 0.607 1.375 -0.041 0.055  0.05 0.631 1.52 -0.034 0.044 0.039 0.627
smooth_kernel -0.101 0.123 0.098 0.563 0.761 -0.062 0.075 0.06 0.681 1.013 -0.049 0.059 0.048 0.749 1.11 -0.04 0.047 0.037 0.799
smooth_ls -0.101 0.123  0.098 0.584 0.761 -0.062 0.075 0.06 0.608 1.013 -0.049 0.059 0.048 0.627 1.11 -0.04 0.047 0.037 0.622
smooth_xavier -0.101 0.123 0.098 0.561 0.761 -0.062 0.075 0.06 0.597 1.013 -0.049 0.059 0.048 0.618 1.11 -0.04 0.047 0.037 0.615
Ax=0.5, ay=7 — by + ds=0.64
standard_kernel | -0.063 0.086  0.08 0.555 0.825 -0.035 0.05  0.048 0.591 1.086 -0.027 0.039 0.038 0.595 1.283 -0.023 0.031 0.029 0.594
standard _xavier | -0.063 0.086 0.08 0.607 0.825 -0.035 0.05 0.048 0.656 1.086 -0.027 0.039 0.038 0.669 1.283 -0.023 0.031 0.029 0.676
smooth _kernel -0.074 0.091 0.076 0.596 0.601 -0.043 0.053 0.046 0.706 0.833 -0.033 0.042 0.036 0.758 0.956 -0.027 0.033 0.028 0.806
smooth_ls -0.074 0.091 0.076 0.62 0.601 -0.043 0.053 0.046 0.66 0.833 -0.033 0.042 0.036 0.669 0.956 -0.027 0.033  0.028 0.67
smooth_xavier -0.074 0.091 0.076 0.596 0.601 -0.043 0.053 0.046 0.648 0.833 -0.033 0.042 0.036 0.66 0.956 -0.027 0.033 0.028 0.663
Ax=0.5, ay=10 — by + d2=0.6
standard_kernel | -0.033 0.048 0.047 0.618 0.528 -0.017 0.026  0.026 0.669 0.656 -0.013  0.02 0.02 0.68 0.722 -0.01 0.015 0.016 0.688
standard xavier | -0.033 0.048  0.047 0.659 0.528 -0.017 0.026  0.026 0.725 0.656 -0.013 0.02 0.02 0.738 0.722 -0.01 0.015 0.016 0.748
smooth_kernel -0.039 0.051  0.044 0.645 0.413 -0.021 0.028 0.025 0.747 0.528 -0.016  0.021 0.02 0.785 0.583 -0.012 0.016 0.015 0.825
smooth_ls -0.039 0.051  0.044 0.674 0.413 -0.021 0.028 0.025 0.725 0.528 -0.016 0.021 0.02 0.738 0.583 -0.012 0.016  0.015 0.746
smooth_xavier -0.039 0.051 0.044 0.65 0.413 -0.021 0.028 0.025 0.714 0.528 -0.016  0.021 0.02 0.731 0.583 -0.012 0.016 0.015 0.741
Ax=0.8, ay=1.5 — by + d=0.87
standard _kernel | -1.877 2.826 4.191 0.255 17.451 -1.615 2.234  3.255 0.224 23.096 -1.564 2.031  2.555 0.198 17.362 -1.527 1.873  2.551 0.155
standard xavier | -1.877 2.826 4.191 0.312 17.451 -1.615 2.234  3.255 0.314 23.096 -1.564 2.031  2.555 0.297 17.362 -1.527 1.873 2.551 0.251
smooth_kernel 2177 2.862  3.191 0.38 9.609 -1.831 2.308 2.874 0.631 9.381 -1.73  2.121  2.441 0.746 4.055 -1.651 1.954 2.372 0.858
smooth_ls -2.177  2.862 3.191 0.298 9.609 -1.831 2.308 2.874 0.295 9.381 -1.73  2.121  2.441 0.274 4.055 -1.651 1.954 2.372 0.227
smooth_xavier -2.177  2.862 3.191 0.292 9.609 -1.831 2.308 2.874 0.29 9.381 -1.73 2.121 2.441 0.273 4.055 -1.651 1.954 2.372 0.226
Ax=0.8, ay=2 — by + ds=0.7
standard_kernel | -0.206 0.584  0.977 0.586 10.354 -0.151 0.358 0.528 0.591 12.713 -0.132 0.283 0.386 0.599 13.43 -0.13  0.223 0.256 0.583
standard xavier | -0.206 0.584  0.977 0.64 10.354 -0.151 0.358 0.528 0.68 12.713 -0.132 0.283 0.386 0.703 13.43 -0.13  0.223 0.256 0.698
smooth_kernel -0.302 0.58 0.772 0.619 7.96 -0.208 0.364 0.476 0.753 9.76 -0.176  0.29 0.356 0.834 10.41 -0.162 0.233  0.241 0.894
smooth_ls -0.302 0.58 0.772 0.62 7.96 -0.208 0.364 0.476 0.656 9.76 -0.176  0.29 0.356 0.676 10.41 -0.162 0.233 0.241 0.67
smooth_xavier -0.302 0.58 0.772 0.619 7.96 -0.208 0.364 0.476 0.655 9.76 -0.176  0.29 0.356 0.676 10.41 -0.162 0.233  0.241 0.669
Ax=0.8, ay=3 — by + d3=0.53
standard_kernel | -0.041 0.161  0.222 0.774 3.278 -0.019 0.088 0.116 0.808 3.925 -0.015 0.065 0.082 0.82 4.087 -0.014 0.047 0.058 0.833
standard _xavier | -0.041 0.161  0.222 0.808 3.278 -0.019 0.088 0.116 0.859 3.925 -0.015 0.065 0.082 0.87 4.087 -0.014 0.047  0.058 0.882
smooth_kernel -0.069 0.16 0.201 0.786 2.615 -0.034 0.087 0.109 0.866 3.266 -0.027 0.065 0.077 0.903 3.425 -0.021 0.047 0.055 0.932
smooth_ls -0.069 0.16  0.201 0.798 2.615 -0.034 0.087  0.109 0.844 3.266 -0.027 0.065 0.077 0.863 3.425 -0.021 0.047  0.055 0.872
smooth_xavier -0.069 0.16 0.201 0.796 2.615 -0.034 0.087 0.109 0.844 3.266 -0.027 0.065 0.077 0.862 3.425 -0.021 0.047 0.055 0.873




Ax=0.8, ay=4 — by + ds=0.45
standard kernel | -0.019 0.088 0.114 0.816 1.811 -0.008 0.044 0.057 0.863 2.018 -0.006 0.032 0.041 0.872 2.107 -0.004 0.024 0.03 0.882
standard xavier | -0.019 0.088 0.114 0.841 1.811 -0.008 0.044 0.057 0.895 2.018 -0.006 0.032 0.041 0.905 2.107 -0.004 0.024 0.03 0.915
smooth _kernel -0.034 0.087 0.106 0.824 1.538 -0.015 0.044 0.054 0.894 1.721 -0.011 0.032 0.039 0.924 1.847 -0.008 0.024 0.029 0.943
smooth_ls -0.034 0.087 0.106 0.834 1.538 -0.015 0.044 0.054 0.888 1.721 -0.011 0.032 0.039 0.9 1.847 -0.008 0.024 0.029 0.911
smooth_xavier -0.034 0.087 0.106 0.831 1.538 -0.015 0.044 0.054 0.887 1.721 -0.011 0.032 0.039 0.901 1.847 -0.008 0.024 0.029 0.911
Ax=0.8, ay=6 — by + d2=0.37
standard_kernel | -0.007 0.044 0.056 0.863 0.95 -0.002 0.022  0.027 0.894 1.022 -0.002 0.015 0.019 0.907 0.992 -0.001 0.011  0.014 0.915
standard xavier | -0.007 0.044 0.056 0.88 0.95 -0.002 0.022 0.027 0.917 1.022 -0.002 0.015 0.019 0.93 0.992 -0.001 0.011 0.014 0.935
smooth_kernel -0.014 0.044 0.053 0.868 0.801 -0.006 0.021 0.026 0.918 0.9 -0.004 0.015 0.019 0.935 0.893 -0.003 0.011 0.014 0.952
smooth_ls -0.014 0.044 0.053 0.876 0.801 -0.006 0.021 0.026 0.915 0.9 -0.004 0.015 0.019 0.926 0.893 -0.003 0.011 0.014 0.933
smooth_xavier -0.014 0.044 0.053 0.873 0.801 -0.006 0.021 0.026 0.915 0.9 -0.004 0.015 0.019 0.925 0.893 -0.003 0.011 0.014 0.932
Ax=0.8, ay=7 — by + dy=0.34
standard_kernel | -0.006 0.035 0.045 0.868 0.742 -0.002 0.017 0.021 0.904 0.79 -0.002 0.012 0.015 0.906 0.782 -0.001 0.009 0.011 0.917
standard _xavier | -0.006 0.035 0.045 0.883 0.742 -0.002 0.017 0.021 0.922 0.79 -0.002 0.012 0.015 0.923 0.782 -0.001 0.009 0.011 0.935
smooth_kernel -0.012 0.035 0.042 0.871 0.632 -0.005 0.017 0.021 0.924 0.71 -0.003 0.012 0.015 0.93 0.708 -0.002 0.009 0.011 0.949
smooth_ls -0.012 0.035 0.042 0.878 0.632 -0.005 0.017  0.021 0.919 0.71 -0.003 0.012 0.015 0.921 0.708 -0.002 0.009 0.011 0.933
smooth_xavier -0.012 0.035 0.042 0.875 0.632 -0.005 0.017  0.021 0.92 0.71 -0.003 0.012 0.015 0.92 0.708 -0.002 0.009 0.011 0.933
Ax=0.8, ay=10 — by + d2=0.3
standard kernel | -0.003 0.022 0.028 0.886 0.477 -0.001 0.01 0.013 0.911 0.467 -0.001 0.007  0.009 0.919 0.492 -0.0  0.005 0.007 0.928
standard _xavier | -0.003 0.022 0.028 0.899 0.477 -0.001 0.01 0.013 0.926 0.467 -0.001 0.007  0.009 0.934 0.492 -0.0 0.005 0.007 0.94
smooth _kernel -0.006 0.022  0.026 0.89 0.413 -0.003 0.01 0.012 0.928 0.42 -0.001 0.007  0.009 0.942 0.448 -0.001 0.005 0.007 0.95
smooth_ls -0.006 0.022 0.026 0.897 0.413 -0.003 0.01 0.012 0.925 0.42 -0.001 0.007  0.009 0.935 0.448 -0.001 0.005 0.007 0.939
smooth _xavier -0.006 0.022  0.026 0.894 0.413 -0.003 0.01 0.012 0.924 0.42 -0.001 0.007  0.009 0.935 0.448 -0.001 0.005 0.007 0.939
Ax=0.9, ay=1.5 — by + ds=0.77
standard _kernel -0.4 1.361  3.389 0.511 22.443 -0.339 0.908 1.808 0.514 30.979 -0.276 0.806 6.689 0.507 30.221 -0.323 0.646  1.982 0.468
standard xavier | -0.4  1.361 3.389 0.557 22.443 -0.339 0.908 1.808 0.596 30.979 -0.276 0.806  6.689 0.6 30.221 -0.323 0.646  1.982 0.58
smooth_kernel -0.615 1.333 3.051 0.548 15.773 -0.477 0.909 1.678 0.689 21.895 -0.375 0.823 6.678 0.763 22.652 -0.414 0.652  0.952 0.836
smooth_ls -0.615 1.333 3.051 0.53 15.773 -0.477 0909 1.678 0.563 21.895 -0.375 0.823 6.678 0.565 22.652 -0.414 0.652  0.952 0.543
smooth_xavier -0.615 1.333 3.051 0.532 15.773 -0.477 0.909 1.678 0.566 21.895 -0.375 0.823 6.678 0.569 22.652 -0.414 0.652  0.952 0.546
Ax=0.9, ay=2 — by + d2=0.6
standard kernel | -0.058 0.391 0.7 0.722 8.55 -0.033 0.22  0.364 0.759 10.256 -0.035 0.164 0.258 0.768 10.344 -0.037 0.124 0.173 0.773
standard _xavier | -0.0568 0.391 0.7 0.753 8.55 -0.033 0.22 0.364 0.816 10.256 -0.035 0.164 0.258 0.828 10.344 -0.037 0.124 0.173 0.834
smooth _kernel -0.128 0.379  0.627 0.735 6.837 -0.072 0.216  0.329 0.827 8.548 -0.062 0.163  0.242 0.861 8.362 -0.056 0.125 0.164 0.904
smooth_ls -0.128 0.379  0.627 0.733 6.837 -0.072 0.216  0.329 0.797 8.548 -0.062 0.163  0.242 0.806 8.362 -0.056 0.125 0.164 0.815
smooth_xavier -0.128 0.379 0.627 0.736 6.837 -0.072 0.216 0.329 0.799 8.548 -0.062 0.163 0.242 0.81 8.362 -0.056 0.125 0.164 0.818
Ax=0.9, ay=3 — by + ds=0.43
standard _kernel | -0.013 0.128  0.187 0.836 2.892 -0.004 0.065 0.091 0.872 3.259 -0.005 0.046 0.061 0.885 3.047 -0.004 0.033 0.042 0.895
standard xavier | -0.013 0.128  0.187 0.852 2.892 -0.004 0.065 0.091 0.902 3.259 -0.005 0.046 0.061 0.913 3.047 -0.004 0.033 0.042 0.923
smooth_kernel -0.034 0.124 0.17 0.842 2.404 -0.014 0.063 0.086 0.901 2.803 -0.012 0.045 0.057 0.922 2.643 -0.008 0.033 0.041 0.944
smooth_ls -0.034 0.124 0.17 0.842 2.404 -0.014 0.063 0.086 0.898 2.803 -0.012 0.045 0.057 0.906 2.643 -0.008 0.033 0.041 0.918
smooth_xavier -0.034 0.124 0.17 0.843 2.404 -0.014 0.063 0.086 0.896 2.803 -0.012 0.045 0.057 0.907 2.643 -0.008 0.033 0.041 0.919
Ax=0.9, ay=4 — by + d2=0.35
standard_kernel | -0.006 0.072  0.096 0.866 1.617 -0.002 0.034 0.044 0.901 1.689 -0.002 0.025 0.032 0.904 1.74 -0.001 0.018 0.022 0.919
standard _xavier | -0.006 0.072  0.096 0.88 1.617 -0.002 0.034 0.044 0.922 1.689 -0.002 0.025 0.032 0.93 1.74 -0.001 0.018 0.022 0.939
smooth_kernel -0.017 0.071 0.09 0.872 1.399 -0.007 0.034 0.042 0.921 1.505 -0.005 0.025 0.031 0.937 1.569 -0.003 0.018 0.022 0.956
smooth_ls -0.017 0.071 0.09 0.876 1.399 -0.007 0.034 0.042 0.918 1.505 -0.005 0.025 0.031 0.926 1.569 -0.003 0.018 0.022 0.936




smooth_xavier -0.017 0.071 0.09 0.874 1.399 -0.007 0.034 0.042 0.919 1.505 -0.005 0.025 0.031 0.925 1.569 -0.003 0.018 0.022 0.938
Ax=0.9, ay=6 — by + d2=0.27
standard_kernel | -0.002 0.038 0.05 0.894 0.817 -0.001 0.018 0.022 0.915 0.861 -0.001 0.013 0.016 0.925 0.842 -0.001 0.009 0.011 0.924
standard _xavier | -0.002 0.038 0.05 0.905 0.817 -0.001 0.018 0.022 0.931 0.861 -0.001 0.013 0.016 0.939 0.842 -0.001 0.009 0.011 0.937
smooth_kernel -0.008 0.037 0.047 0.898 0.715 -0.003 0.017  0.022 0.931 0.785 -0.002 0.012 0.015 0.941 0.779 -0.001 0.009 0.011 0.947
smooth_ls -0.008 0.037  0.047 0.901 0.715 -0.003 0.017  0.022 0.929 0.785 -0.002 0.012 0.015 0.936 0.779 -0.001 0.009 0.011 0.935
smooth_xavier -0.008 0.037  0.047 0.9 0.715 -0.003 0.017  0.022 0.929 0.785 -0.002 0.012 0.015 0.937 0.779 -0.001 0.009 0.011 0.935
Ax=0.9, ay=7 — by + ds=0.24
standard_kernel | -0.002  0.03 0.039 0.897 0.672 -0.001 0.014 0.018 0.918 0.678 -0.0 0.01 0.012 0.932 0.672 -0.0 0.007  0.009 0.932
standard _xavier | -0.002  0.03 0.039 0.907 0.672 -0.001 0.014 0.018 0.932 0.678 -0.0 0.01 0.012 0.944 0.672 -0.0 0.007  0.009 0.943
smooth _kernel -0.006 0.029 0.037 0.901 0.586 -0.003 0.014 0.017 0.931 0.62 -0.001 0.01 0.012 0.948 0.626 -0.001 0.007  0.009 0.954
smooth_ls -0.006 0.029 0.037 0.903 0.586 -0.003 0.014 0.017 0.93 0.62 -0.001 0.01 0.012 0.943 0.626 -0.001 0.007  0.009 0.946
smooth_xavier -0.006 0.029 0.037 0.904 0.586 -0.003 0.014 0.017 0.93 0.62 -0.001 0.01 0.012 0.943 0.626 -0.001 0.007  0.009 0.945
Ax=0.9, ay=10 — by + d2=0.2
standard_kernel | -0.001 0.019  0.025 0.902 0.432 -0.0 0.009 0.011 0.929 0.416 -0.0 0.006  0.008 0.931 0.422 -0.0 0.004  0.005 0.939
standard _xavier | -0.001 0.019  0.025 0.91 0.432 -0.0 0.009 0.011 0.938 0.416 -0.0 0.006  0.008 0.941 0.422 -0.0 0.004 0.005 0.945
smooth_kernel -0.004 0.019 0.023 0.907 0.388 -0.001 0.009 0.011 0.94 0.384 -0.001 0.006 0.008 0.944 0.396 -0.0 0.004  0.005 0.953
smooth_ls -0.004 0.019 0.023 0.91 0.388 -0.001 0.009 0.011 0.938 0.384 -0.001 0.006 0.008 0.94 0.396 -0.0 0.004 0.005 0.946
smooth_xavier -0.004 0.019 0.023 0.907 0.388 -0.001 0.009 0.011 0.938 0.384 -0.001 0.006 0.008 0.94 0.396 -0.0 0.004  0.005 0.946




